
��������	��
����

�
�����



���������
������ �

��������	��
������������

� �����������
������
� ��������� !
� "��#

� 
�$�
%�#������
����
���##�&��
#

� '�#�$�
%�#������
�����������(��������$��
)������*��*&�����#�*��+
��#

� ��#�,-��#�*&����##�&��
#
� �%�
&������



���������
������ �

�� ���������	��
����

� .�**��*&�����
�����
� / �0�+�
�- ��#
����/ 12333�+�
�- ��#

� 
$����*&��*,$���
�%#� 4567�*&�$
*�
�,,���
8���� ��*,$��9�# #��,#�:����$�*���#���������# #��,#;
<
*�����%�� �=�1�������*���6��� �6�$
*�
�,,�


� ��#�
��&*
���#�*,�>���*�
'�-
*�#�
������-
*�#�#�- ���#��&!

�8���,�
?�*&�)�����������
8*���*������
������
����������!



���������
������ �

'$$������*�#�*&��	

� �
�������
��&
���
� <
*�����$����,����@��*�#�,�
�-���%�*

� A��*,,����
�# #��,#
� 
$�����
��*�����*�

�*#��,���
����#����##&���
�
���*&�')



���������
������ 0

�9�,$��#�*&�	��
����

� "�- ��*����#�#�*%�2����#�-�
���2���9����,�B

� ��������#��������#�#�*�����#�#�*&�$�*$��������
��#��#��C2����
�#�������# ,$�*,#B

� 8*��,�� ��
*�$#�*&��*�#!



���������
������ D

������� ��������	��
����!!



���������
������ �

��&��������	��
�����<
*-��,

� +�#?�+��
� �������	
��
���

� <�
&*
,��������#�
��<��
� �
��
��	��	���
�	���	�������	�����
���

� �9$�
���������
� �������	�������
	���
�	�������	���
��

A program is said to learn from experience E with respect 
to task T and performance measure P, if it’s performance at 
tasks in T, as measured by P, improves with experience E.
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Nonoperational…
Want operational approximation of V:  V
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V(b) = a + bx1 + cx2 + dx3 + ex4 + fx5 + gx6

Now just need to learn 7 numbers!
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V(b) = a + bx1 + cx2 + dx3 + ex4 + fx5 + gx6
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